AN1Z4

NLZ

N

8 T 3 5 I Z 3 T 7 T i
4100 2800
2800 2800
1 Il .
o]
]
o
=4
>
[}
(o3 [1e] <
2 il 2 s
o a
L s
=
i | 2
oot T T O I iﬂ _______________ g
- | — [ — i 0 i s
Tiirbreite 1960 2672 8
| | 4206
3980
o
[:e]
~
N
Innenhdhe: 1970 mm
Auttragebestitigung |m.u-.: Tobert: m1_20 |nu.- I-.au-.m [Wosselks)
Belastung: Autfongval.([): | Material: *
1000 kg/qm[2x 1000
F ] ootum Nome | Benennung:
[Beard. |18.08.14
S CLEPE
o | Tiir Ldngsseite
g LACON’ N Zalohnungenummer: [aratt:
L Umweitectok | 4 x 2.9 — L (2) I_m_
8 7 I 6 S | 4 Zust_[Anderung [Dotun_[Nome [EDV Ne. etz Tersa:

41N




